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o PV AT FT T 5 5T 0T 7 AT T 8 @ 497 35 &

Please make sure that the printed pages in this question paper are 8 in number and
it.contains 35 questions.

o J97.0F a8 HI R T @ T @ o5 Fue-giaw § §er-ge 97 ki)
The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.

o AT F TG §& B G 6, F97 B T G [

Before beginning to answer a question, its Serial Number must be written.

o FECgRTE % T F @t e/ 0 T a8
Don'’t leave blank page/pages in your answer-book.

o TE-GRIH @ GHORET FE o e T el o sTaEIFAT & R dit frer e
e
Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gl ST 0T Fo Fe-g7 ¥ oraeq FiE BT do & i mer-g o7 7 §8 A T
ford it dwIcv® Fel 3 G a7 el SR @ R 7
Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and don't make an Yy mark on answers of objective
type questions.
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. T T B o 37 8 [ % ghe a7 7 B gemam of 7 8 & 0 % 90 gy
T ¥ & o gy < 7@ R ardm

Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

SR [

General Instructions :
() & T e 8
All questions are compulsory.
(i) T FEM L 720 TF TGS 597 &1 3% 597 1 o1 & &

Question Nos. 1 to 20 are Objective Type Questions. Each question carries 1
mark.

(i) 597 FET 21 & 26 7% oIy IT0T 957 & FE 997 3 3% F 8

Question Nos. 21 to 26 are Very Short Answer Type Questions. Each
question carries 3 marks.

(iv) To7 T&T 27 @ 32 TF T G007 7 &1 JAF 997 & o7F & &

Question Nos. 27 to 32 are Short Answer Type Questions. Each question
carries 4 marks.

(v) T97 §& 33 @ 35 % [aevw 597 & 5F 597 6 3F A &

Question Nos. 33 to 35 are Long Answer Type Questions. Each question
carries 6 marks.

1. it fRamd = .
(A) EEE + BT (B) @A + IWIR
(C) T + TSI (D) FAEE + Y + TR
Economic Activities =
(A) Business + Profession (B) Business + Employment
(C) Profession + Employment (D) Business + Profession + Employment
2. w (Rfw) Fram, 2014 & e 10 & oFfER @ @R B § wRR @ s
e Pl B & 7 ,
(A) 10 (B) SO
(C) 100 (D) 200

Which is the maximum number of partners in a partnership firm as per Rule
10 of Companies (Miscellaneous) Rules, 2014 ?

(A) 10 (B) S0
(C) 100 (D) 200

3210



3210

(3) 3210

T Red 9% IwF & 68 Srer @ gere @ 7 1
A) Ff swm (B) Jurfes /ardeE frm

(C) T FH (D) ST & & FH T

Reserve Bank of India is the example of which types of Enterprises ?

(A) Private Undertakings (B) Statutory/Public Corporations
(C) Government Company (D) None of the above

g o i R gER @ e @ wea 2 - 1
(A) e (B) &I &

() wmEF (D) I A § I T

Bima Kiran Policy is related with which types of Insurance ?

(A) Life Insurance (B) Fire Insurance

(C) Marine Insurance (D) None of the above

B2B ailivas 7% & T w9 e 2 1
(A) Buyer-to-Buyer Commerce {B) Bank-to-Bank Commerce

(C) Business-to-Business Commerce (D) Balance-to-Balance Commerce
Full form of B2B a Commercial Terms is as under :

(A) Buyer-to-Buyer Commerce (B) Bank-to-Bank Commerce

(C) Business-to-Business Commerce (D) Balance-to-Balance Commerce
R 7 &/ P-1 2 & FRew 3 5w saeiE Jdi e ? 1
() P H R TEE (B) Sfaw A e Fe

(€) T # wgwd ghriEa F (D) 3 witafes 2

Which of the following is nrot the Social Responsibility of Business towards
Investors ?

(A) To ensure Safety of Capital (B) To ensure proper Dividend

(C) To ensure proper utilisation of Capital (D) To give appropriate Salary

TR B TH B P F - 6 FEeE F A oy g 2 1
(a) w (B) F=hAEl § Wrgr

(C) T [N (D) #% &t 4

Application for approval of name of a company is to be made to which office ?
(A) SEBI (B} Registrar of Companies

(C) Government of India (D) Company Law Board -

P.T.O:
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s @ ) R oFd T & o A S @ 2 1
(A) TUR E3 (B) =ii® ar@

(C) @4 fa= (D) IR & & Hg Tél

Retained Earnings is also known with other name :

(A) Borrowed Fund (B) Trade Credit

(C) Self-Financing (D) None of the above

g S i e § wie o A o IR X R 6 oftean @ R E 7
&) 1HT T T

B) 135 § F T 10 W T

(C) 10FT A F T 50 F3 Th

(D) IR & § Fg T

In case of Small Enterprises what is the Ceiling on Investment in Plant and
Machinery or Equipments ?

(A) Upto Rs. 1 Crore

(B} Above Rs. 1 Crore and upto Rs. 10 Crore

(C) Above Rs. 10 Crore and upto Rs. 50 Crore

(D) None of the above

s fdr TR FREd e o @ 7 1
() & (B) T

(C) e (D) I # § P T8

Public deposits are raised from whom ?

(A) The Owners (B) The Directors

(C) The Auditors (D) None of the above

PH-H1 AN I W A IRl & T e € 1
(A) 9% @Y (B) HUAI

(C) G @AW (D) I § A FE T

Which of the following trader keeps only samples in the shop ?

(A) Wholesaler (B) Company

(C) Retailer (D) None of the above

2 (B8 & a1 ST Pratedt @ o B § & S @ 7 1
(A) T TER (B) &€

(C) W& (D) faeft gm

What does the importer send to the exporter after making trade inquiries ?

(A) Railway Receipt (B) Indent

(C) Letter of Credit (D) Foreign Currency
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2 R T Rt § A 7 H T wE :
AR (A) : TEOE T D W T8 R ¥

FRO (R) : TH T & T 781 & w2, i T B gAAe S 8 8y

(A) IR (A) T IR (R) AT A ¥ ol e (R), AR (A) B OWE e
(B) SRR (A) T FIT (R) A & ¥ o g (R), ARwpe (A) B WE e @
(C) PR (A) T ¢ qlT IR (R) o B

(D) TR (A) T80T T (R) Q1 970 E

Choose one of the correct alternatives given below :

Assertion (A) : Promoters are not the agents of the company.

Reason (R): Promoters can't be the agents as the company is yet to be
incorporated.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A). https://www.haryanaboard.com

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A} is true but Reason (R] is false.
(D) Assertion (A) and Reason (R) both are false.

4% R m Rl § ¥ gt @ 9 1
SR (A) : SifgT F SafFa § e € ST wen

FT (R) : SERT & AR X ffveaa seud w6 2l

(A) SR (A) T T (R) A U & R F (R), AR (A) B wE @

(B) ST (A) T R (R) A1 ¥ & SR I (R), PR (A) B TR @ T e
(C) RIF (A) & & W FRU (R) 76 21

(D) SRR (A) T BT (R) 3 o1 2

Choose one of the correct alternatives given below :

Assertion (A) : Risk cannot be separated from entrepreneurship.

Reason (R) : Entrepreneurship is surrounded by uncertainty on every side.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true but Reason (R) is false,
(D) Assertion (A) and Reason (R) both are false,

P.T7.0;
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AT 7 qEal @ Wi <@, S T YW T o e B SR FU AEEiE dan
ﬁ@ﬁs’rﬁ;ﬁﬁﬁﬁiﬁﬁ%dﬁml :

"Unlike products, services cannot be seen, touched and smelled.” The above
statement is related to one of the point of nature of business services. Identify

it.
g s E Sl ATE el @ et Yead (ol devie) & A
¥ [ T 317 AR T TG F I g0 e A waR 1 38 veai 1

‘It refers to conducting all the industrial and commercial activities through
computer network (Internet)." The above statement is related to one of the
emerging modes of business. Identify it.

FOGHRE B S ©EY #7 9 ear & 7 1

In return what is received to the debentureholders ?

B9 U A AGHIAF A H ... HT 21 (Aperes /ATTa) 1
Strike and Lock-Out is the .............. Cause of Business Risk. (Natural/Human)

.............. YT FEA A FHA 6 (B 1

Patent can be got done of a .............. . (Formula/Book)

............... F BE F T B (TR Sa/2mie ara) 1

................ is the example of Borrowed Fund. (Preference Shares/Trade Credit)

T & [ i oiiE FRedt @ v B 3
Explain any three economic objectives of business.

CILE |

OR
freft Bt A Bl dffr fastuanell &1 avfq i

Explain any three features of Private Company.

TG FE & 5 ey ot ol AR 3
Explain any three merits of Multinational Companies (MNCs).
31gdqr

OR
RS S ZW R 3 B R e e @ AV B

Explain any three types of advancing of loans by Commercial Banks.
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23. TEET 3 WATG SUETE @ B ¥ B fT T dR 3
Explain any three cases in favour of social responsibility of business.

24. FT 3w B 7 I i 3
Write three effects of incorporation of a company.

25. ‘T, ‘TEAPE @ ‘S 9@ % 9 wWe fHif 3
Clarify the meaning of the terms 'Entreprencur’, 'Entrepreneurship’ and
'Enterprise’.

Yqr
OR

FidrrEe P Gl 9hR & o7 g feget @ A A

Explain main three points for Registration Process of Copyright.

26. 1% A G Gea ANE # JEE A AN A g A7 e Fael 7 W a4 3

Explain any three main services provided by Wholesaler towards Retailers.

27, FEEE T 99 H FE G ol i 4
Explain any four differences between Business and Profession.
8. faariy swrdl & Bt e el @ o St 4
Explain any four demerits of Departmental Undertakings.
Yqr
OR

HesmEed & [l & Ay el /SYE Tgivdl @ aviE S
Explain any four modern modes/recent trends of Communication.
29, Wiad g T GRS M K HS g oAt W i 4

Explain any four differences between Life Insurance and Marine Insurance.
' YT
OR
aftr -t & B arr yeRi @ 3o

Explain any four types of Fire Insurance Policies,

30, $-aEE/A-H & @ g R 4

Explain any four benefits of e-Business/e-Commerce,
3210 P.T.0.
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e aidh & R 9 8% R A a7 e

Explain any four advantages of Preference Shares to Investors.

T
OR

o 3 Bl e @ a g

Explain any four types of debentures.

fa &% 3 Bl av Rl @ N Siftm
Explain any four objectives of World Bank.

3R R TR I i @3 60 9Ye faeen e

Explain any six major characteristics of Joint Hindu Family business.

Yqr
OR
T FeT B PR & [ G ffaw
Explain any six main limitations of Company organization.
WiE e A Reg-arnh 3 & et @ dfe w0 § oo divm
Briefly explain about the six clauses of Memorandum of Association.
LE
OR
AR § % BIR EqE i 5 o e @ 3 i

Explain any six problems faced by a small business in india.

o] @ T (eHewd) B R g: @ fadmael & feEr & g Fiftwm
Efxplain in detail any six main features of Goods and Service Tax (GST).
C|
. OR
Ry FUSR AR TZHEH A § 3 8¢ ST W Fhw
Explain any six differences/distinctions between Departmental Stores
Chain Stores.
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